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FEN |MULREIE(ZRELSEHEM) [(FE] —= AEEETRE B4 518,400
FE2 |MLREIR(EEEEHM (PE] —= AERBEEFRYE A=t 1,036,800
HE3 (FMLHEIE(CERFEEEH (FE] —= AEBEETHE HA24 529,200
FE4 |MLREIE(LEREESEH [(FE] —= ARBEEFRYE M=t 723,600
HES (MMULBEIE(FREEEHH) (hE] —= AEEETHE HA24 415,800/
hE6 |FMLHEIE(ETEEEHM (HE] —= KBREETBE K4 453,600
FE7 |MLUBEIEMIFEEHR) [(HE] —= AEBEETHE HXe4 1,004,400
HhES (MMLSEIE(RMURFEEEHR (FE] —= RIVEHERSR BREH 469,800
HES (MLHEIE(BRAFEESE (FE] —= RIVEHEER AR 448,200/
HE0 |MLREIE(LUOEEEHH) (HE] —= AEEETYE K4 2,214,000
FEN (MLBREIEKFEEEHH [(FE] —= KEEETRBE B4 626,400
PE2 (MLREIE(EREEEHA [(HE] —= AEEETYE K4 1,040,040
FEIS (MLREIECEHEEEHA [(FE] —= #HIUEE A4t 674,200
hE4 (MLBEIE(BUBEEEHER (HE] —= RIVEHER BREA 164,700
FE5 (MLBEIEELEEEHH (FE] —= KEEETRHE HA=1 2,430,000




